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1 2 3 4 5 6 7
Uwpwhiptibp 5923500
031212101 Twnlwht Unduynghghwutp uu nnwyd 257000 1 257000
03121210/3 Dwnluwjht Yndunghghwtibp Blwinpdwl hwiwp uu nnwd 120000 1 120000
09132200 PBUght nbgnyjwp t< thuip 310 5000 1550000
18421130 Atinling fwinihkphiuwht / PLUL qnyg 300 90 27000
18511270 Undwphg Hunpwiunguwd wwpwgqubibp uu hwtn 56250 4 225000
18821500 bnunpniwhu Unahlutip RCUL qnuyg 10500 2 21000
19211500 Yinwy uu d 4500 10 45000
19641000/ Mnihbphibbwhu wwnly /wnph hwdwp PLUC hwtin 10 2000 20000
30192157 “Hngdwlthplitp uu npwd 40000 1 40000
30192700 Spblwlwl whwnnyplibip RPLUL nnwd 619700 1 619700
30237490 Cwdwluwpgsh dntihtnnp uu hwn 48000 8 384000
30237410 Cwdwlwpgsh dupl uu hwuwn 3000 ] 27000
30237460 Cwilwlwngsh unbinwgwp uu huwin 6000 9 54000
30232100 Suhsutip uu hwn 55000 1 55000
30234630 b2 hhannngeynu uu hwun 5000 5 25000
30239160 Suyhs puqdwhniiyghntiwg (3-p T-nuf) uu hwin 95000 3 285000
30211200 "hnipwlhp huwdwlwngpy uu hwn 155000 1 155000
31151120 Uthuwthwl ubimgdwy wnpnp uu huwin 18500 2] 166500
32231600 <bnwunu uu hwuwn 4000 33 20000
32341110 Puwpdpwhinu uu huwn 5500 1 5500
34331300 Ownwijnnulwl dbpbliwh wwhbunwiwubp RCUL npwd 798000 1 798000
35121000 Luljrnnupw L wudnwhignipwl hwiwlwpgbp L uwnpbip uu npwd 500000 1 500000
37451290 Snunpnih quinwl RLUL hun 14800 1 14800
39281100 Snulidn / quiwp/ RCUL hwn 2000 3 6000
39812100 Uwppnn L thwy bglinn wnunwnpwhip PLUL nnw 228400 1 228400
33761000 Rnquipwlh prua / nniynlny / PLUL hwn 100 246 24600
39531800 Snpghip uu hwun 3000 1 3000
39515450 Shpunwwpuwignyp uu pd 7500 5 37500
44192300 Muwinnihwliwgng uu d 3000 6 18000
44192610 Ubiu uu lg 700 5 3500
44111412 Lbinl ghtwpwpwluwy uu g 1500 20 30000
44192700 Lbplwguupl uu hwin 1500 4 6000
44192800 Updhu uu hwun 600 5 3000
44411110 {nh dnpuly, thwlwy uu hwin 3000 3 9000
44421720 RAwpnuwnnuh- hnizwtitip uu hwin 20000 2 40000
44511260 <nlwpninpe vu hwn 1200 5 GOODJ




44511270 Unipé uu hwtn 3000 2 6000
44521120 nwl hwljwl uu hwtn 2500 5 12500
44611320 Puwpmw nwlwn-hmgwudbn uu huwin 20000 2 40000
44821000 Lwp uu g 1500 20 30000
44921100 Shuwju Uu Vel 200 20 4000
44921400 Yhp Uu Lg 150 10 1500
anw;n_lpjm.tlhhp = 8611120
79821120 Ywhwtwlubph wwnpwundwl Swawjnipntl Uu npwd 40000 1 40000
sormrrp | Ldnmdnehiwhl wwnlh bmwln%ﬂﬂ,ﬂ:ﬁﬁ:‘ S RaknpRea O mewutidwt - e st | Tooon 1 102000
5031120 | Cwdwlwpgswiht vwppwynprwubph wwhywbdwy b JEpwinpngiwl dwnwnianiiibp | ACUL nnwd 480000 1 480000
66511170 Pnfuwnpwdhgngubiph hbw Yuwdws wwwhnwgpwlwl dwawjnuyeniitbp PLUL | npuwd 100000 1 100000
Fa6na0 | STl ‘”bh’t‘"l"“*f::ﬂﬂﬁ“:ifﬁfﬁ:&‘n:’:’““m‘{"””‘dhb”h' Snuwanuiht | poue | npws | 420000 1 420000
72411100 Cwdwgwlgwjht dwnwjnenuttph dwnngnid PCUL npwd 419920 1 419920
76131100 Suquuywuwpydwl hwdwlwpgh nbubhywlwt uywuwpdwl Swnwnienditibin PCUL npwd 26000 1 26000
64111000 $nunwiht Ywugh dwnwjniejniibp PCUL | npwd 220000 1 220000
64211100 Qwlpwjht hbnwhunuwht Swnwjnyejniu PLUL npwd 380000 1 380000
64211200 Gppnpn ubplinh peewihl nwnhnwwh unwlunwpntbph (umts) dwnwjnipnutbp PCUL npwd 880000 1 880000
65111100 2ph pwafudwl Swawnieniiitin PCUL | npwd 100000 1 100000
65211100 funnnwlwawnbipny ququihtt Junbijhph pw2fudwl Swnwnueniubp PLUL npwd 1100000 1 1100000
65311100 Elbyunpwilbipghwh pwatudwl dwnwnipniibn PLUL npwd | 1400000 1 1400000
71631120 Udwndbpbuwlbph wnbuuhjwlwt vinngqdwl dwawjnuyeniiibp PLUL nnwd 22000 1 22000
79111200 Lbplwjwgmgswlwl dwhuubp 1501200
55111000 {nipwbingwihl Swnwjnip)ntl uu nnwid 376200 1 376200
55311000 Gnipwuhpnipwl dwnwjnip)niu uu nnuid 498800 1 498800
79521100 Muwwnbbuwhwudwl dwnwjnigniutibp PCUL npwd 75000 1 75000
79811000 Swwgpwlywl dwnwjnipjniu uu npwd 100000 1 100000
80521200 Nwnignnuiljwl ubdhuwptibp PLUL npwd 100000 1 100000
90511100 Unph hwywpdwl dwnwjnipnutbp PCUL npwd 120000 1 120000
92411100 fdtippbph pwdwunprwgpnipjwl Swnwjniyeint PCUL npwd 150000 1 150000
Upwahpp -Whiwnwlwadh/Ywnptph/ gény punhwtinin punyph wy Swnwynipgniiubn
' Ubdwlinuip ' punhwlnp plnyph h_u..!hnwj.i.'!b Swnwyniajntiibn
~ pwdhb 09 funwp 1 nuu 1 6nu.1qhn 51 (puwn pigbiniwhl 6u3ﬁ1ubnh an%&umt:whwn wuwlwpagdwl)
;if;%t‘;ghf;lg . Fuwl wnwplugh Quiwb [2uihdwl| Uhwynph eutulg| FMwne
el Uuywunwp dup  [dhwdnpp|  ghup Inpud/
1 2 3 4 5 6 %
Uwpwhptibip 150000
30197631 Swwgpwlwl pnune /U-4 $npdwinh/ PLUL innith 2400 52 124800
30197232 Upwguwlwn / pnpwwwlwl ,pnpjw / PLUL hwn 80 80 6400
30192121 Snhs ghy PLUL hwn 150 40 6000
30197231 duy PLUL wnith 1000 10 10000
30199231 Urlwrf / wdwyh / PCUL hwn 10 280 2800
Dwnwjnipymibtibp 2033480
64211100 Cwlipwiht hbnwfunuwiht dwnwjnieniu PCUL nnuwd 60000 1 60000
64111000 Prunwiht Yuwh dwnwjnipniitbn RCUL nnwd 60000 1 60000
65311100 Elblwpwtubpghwih pwatudwt dwnwjnuyejniiibp uu nnwd 157000 1 157000
71311320 Uywnnnulwl hwdwlwpgh dhwgnud bibhnpwlwl gulight Uu npwd 53000 1 53000




: d &
72261160 Opwagpwihl wwywhnddwl' gnypuihl hwpltiph L dGwplitiph wywn winwgyw AOLC Al 232800 ] 232800
hwlwywngh, uywuwpldwl Swnwnipjniilbp
72011179 dbnnubwlwt Ywd ghnwljwt hwidwlwpgswihl Spwapuwyh thwpbplbph dywldwy AOUC i 180000 : 180000
Swnwjnipniutibp
60131100 Ninbnpwipnfuwnpdwy dwutwghnwgyws dwnwjnipniitibp (o4 npwd | 1199780 1 1199780
50311120 | Cwdwlwpgswyht uwppwynpnuitiiph wwhwwbdwl b JbEpwinpngdw Swnwjnieniip | PCUL nnwd 90900 1 90900
Opwghpp - Cunhwunip plingh hwbipwht Swnwynipynitiibin /wy) nuubph swwinljwtinn/
Utwlnuwip * punhwlnip pingeh hwlpwiht dwnwjnuyegnittibp
puwdhl 09 funulp 1 nuwu 1 dpwahp 51 (puwn pjniwbinwhl Swhuubiph gnpdwnliwljwy nwuwlhuwpgdwl)
Uhguwiighly Fudwl wnwpljuh
dwdlywghpp' Fudwt | uihdwl Uhwdnph Sulnl Snudwpp
puwn SUU Uuwunuip dup  |dhwynpp|  ghup o mpwy
nwuwlwpgd
wily
1 2 3 4 5 6 7
Uwpwtiptibp 298000
44311240 Swnwwlnwlubp PLUL hwn 28000 6 168000
44311250 Eplwpjw wpnwnpwip PCUL | npwd 130000 1 130000
39111320 Lunwpwitbp S nnw 95000 16 1520000
 Dwnuwjnipjnitiibp = = 1838700
92421100 Ywdnynul tynipbph nywgpnud L hbinnwinwnbivwiht Swnw)nyenliubn npwd | 1308700 1 1308700
71251000/1 | BSwpunwpwiybnwljwl, hudaubipulwl b gwihwgpdw dwnwjnipiniubin /30.7485 hw/ uu nnwd 450000 1 450000
71251000/2 Bwpnwpwwbnwlwy, hudbibpwlwl b swihwgpdwl dwnwjnypynitibp /1.2 pu/ uu npwd 20000 1 20000
71351490 “wnwuinpwihll pwpnbqugpiwl Swnwinipniuibn PCLIC npwd 480000 1 480000
Lwhwgdwlwhiwhwuwhu thwuwnwpenpbnh tawhnui/Ehy 33 wnwpwdpuyht
713210 PCUL d 3000 1 30000
b punpwlwl hwuduwdnnnih ublywlubph Jbpwlnpngdwl wpluwinwuputiph L X L
hudblbpwlwl bwwgsdwl dwnwjnupintl / Upphy hwdwjliph Uquitnnijwl
321 4 Qc d 138000 1 138000
TR0 hpwwuwpwlh Jwnpdwitbph b hwpwlhg nwpwsph Ybpwinpnguw wfuwnwlptbph i
Stiuuhywlwl hulynnnigwl dwnwyniinily/ Upphly hwdwjuph Uquitnnipjwl
3 Q< 55000 1 55000
it hpwujwpwlh pwinpywitbiph b hwpwlhg nwpwdph Jbpwunpngdwl watuwnwlplbiph el <
Uzhuwinwtpbp ' 915000
«Upphlh phy 4 hhiuwlwl nujpng» MNUY-h obtpnud inbinwljwyuws rhy 33
45221142 nwpwdpuwht punpwlwl hwudbwdnnnyh ubljwlubph JEpwinpngdwy PCUL | npwd 915000 1 915000
wotuwwnwliplibp
Upwghpp -Swlwwwphwyht wpwbuwnpn
- Undwbnuip " Bwlwywphuht wpwlugnpn
owdht 09 hinwip 1 nwu 1 dnwahn 51 (nuwn pinighunwihy bwl‘gah_nh_ur_\nﬁgfm;wl.lwn wuwbwpgdwl)
Uhguiughy
A Sudwl wnwpljwih
dwdljwghpp udwl [ Quihdwu Uhwynph Bitivaly Snudwpp
pun SUU Gup  [dpwynpp ghup . /npuwd/
nwuwlwnpgd Ubwlnuwp
1 2 = 4 5 6 7
' Ownwynipjnititibip 631000
Pudbubpwlwt bwhweddwl dwnwynipinil / << Shpwlih dwngh Upphl hwdwjupnud
71321160/4 QL 9000 1 0
ZHeH hnwlwliwgynn shtwpwpwlwt wpluwwinwlptibph L) g AVNG
Sbfutihlywlwy hulnnnuyejwt dwnwinupjnil/ << Thpwlh dwpgh Upphly hwdwupnud
71351540/2 2
: Ppwlwlwgynn shtwpwpwljwl wahiwnwlplbinh ¥ i i ! 000
Pudblbpwlwl twhiwgddwl dwnwynyeynit / Upphl hwdwiuph Pwnpwdjwy thnnngh
71321160/5 q 9
; dwypligph Ybpwunpnguwl wztuwwnwlplbiph % g ik ] i
SEhuhlwlwl hulnnniejwl dwnwjnupynily/ Upphly hwiwliph Puwnpwdjwl thnnngh
71351540/5 36
X dwyplgnh Ybpwlnpngdwl watuwwnwlplibph o s o ] =
Uphwinwiiplibp 17460460
452311871 | Unehl hudusph dh zuing thanngliinh L Uquinnipjwl hpwwwpuwlih w/p swdlngeh <UU | npwd | 12542000 | 1 12542000
dbnwbinnnafwly wehnimulintibin
45231220 Upphly hwdwjuph . ULdnbhh thanngh Bqnwpwnbiph nunndwy, onwhbnwgdwl wnywlh Ul npwd | 1560000 1 1560000
Ubnwlignnieiud wohinnutolibn
4523118772 Unphl huduwtiph dh 2wnp Lh”:”ghbﬂf’ r‘“: P dwdlnyph ybnuwlinngdul 9< | npwa | 3358460 | 1 3358460
uoniunnniniibn
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dwdywghpp' Sudwt | uihdwt| Uhwynph Putniley Snuwlwpp
puwn SUU Ubwlnuip dup | dhwynpp|  ghup /npwd/
nuwuwlwpqy
5 2 e 4 5 6 7
_ Uwypwtiptibpn 1380000
18421130/1 Qbnling /wnihtphibbwht / Uu qnyg 250 10 2500
18421130/2 atinting  /wnihbphiEUwht / uu qQnyg 250 16 4000
19641000/2 Mnihtehibbwht wwnl /wnph hwdwp Uu hwn 10 90 900
19641000/3 Mnihtphibuwihl wwpl /wnph hwdwnp vu hwin 10 100 1000
39224340 Unpwnlyntn POUC | hun | 30000 33 990000
39836000/2 Uyt / undnpwluw uu huwtn 650 4 2600
39836000/3 Ugby / unynpuljwt uu huwin 650 10 6500
39839100/1 Snquphwl wnpp hwiwpbine hwdwn uu hwtn 8000 4 32000
39839100/2 SGnquphwl wnpp hwdwptine hwdwn Jdbunwnw/ uu hwn 8000 5 40000
44423400/2 Snigwbiwllbp uu hwuwn 4500 20 80000
445111101 Pwhtp uu hwn 8000 4 32000
44511110/2 Pwhbn uu hwtn 8000 6 48000
445111701 Pngtubip uu hwuwn 7500 4 30000
44511170/2 Pngtubin uu hwin 7500 7 52500
44511150 Cwunhgubip uu hwn 5000 4 20000
44511500 Upwpwpbp Uu hwn 1000 6 6000
44511200 dtnph unng uu huww 5500 4 22000
Umdwjmpjm‘llhhp = 5154000
45521000 Chuwpwpwlwl depblwh Jundwlwinyent' dbpbbwyunh hbn dhwupt uu npwyd 200000 1 200000
90621100 djwl dwppdwl dwnwjnipjndutibp me npwd | 4954000 1 4954000
Opughnp -Cpgwiljw dhowijwiph wnunnnduwt nbd wwjpuwp
Uldwunuip * Bpgwljw dhowiuwiph wnnnwduwl gl wugpwn
: = puidhl Déiiqudpﬂ nuwu | Spwghp 51 (puen pintghitnuwyht .Qwhmhpj-l._g_np&;hrihwhmh nwuwlwngdw)
Uhguitighly Fudwl wnwplwih
dwdlwghpp' Qudwt | 2uihdwy| Uhwynph Pl Snudwpp
pun SUU Ubdwlnuip dup  [dpwynpp|  ghup /npwd/
nwuwlwpgd
1 2 3 4 5 6 7
Uwpwhiplibip 1400000
34921440 Unpwiwlubp Q< hwwn 28000 50 1400000
_ Upuighnp -Bngwljw showduwyph wwyunwwlineyndts
. Ubdwunwp * Spowluw dhowwiph Wunwwlnie i
pwdht 09 funulp 1 nwu 1 8pwghp 51 {puwn pynigbnwiht dwuubph gnpdwnbiwlwl nuuwljwpgdwl)
Uhguwtighl Fudwl wnwpluh
dwdlwghpp Fudwt [2wihdwy| Upwdnph Puwllg Snudwnp
puwnn SUU Utduwlinuip dup  |dhwynpp|  ghup /npwd/
nuuwlwngd
1 2 3 4 5 6 7
Dwnwjnipynitiibp 236000
Upphly hwdwuph dheny wugling «Unypnyh &np» hbintnwwnwnph Jwppdwl
71321000/3
wofuwinwlplibiph Uwhiwgdwlwhiwhwydwht thwuwnwpnpbph dowlnu REHE e i : S
u h «
71351540/1 Stuthywlwl hulynnnewl dwnwjnuanit/ Upphl hwdwjliph dhend wugling «Unypnyh Uu L 30000 1 30000
Gnn» hbinbnwnwnh Jwpndwl wohiwnwliplbnh
h
71321160/3 udbubipwlwt bwhiwgddwl Swnwjnieini / << Thpwlh dwpgh UpphYy hwdwtipnd cUU s 97000 , 97000
wnpwywiph Yepwdws nwpwsph hwpphgdwl wzhiwwnwplbiph
Stuthywlwy huynnnyewl Swnwjniani / €€ Chpwlh dwpgh Upphy hwdwjtpnu
71351540/2
wnpwyuwph YEpwsywsd nwpwdph hwppbglwl wyluwinwlplibph e i 42000 : ol
Uphsunnwiptibip 3636000




d
45231259 L Thpwlh dwpgh Upphly hwduwlipnud wnpwywph Yepwdws nwpwéph hwppbgdwl Ul npws | 1749600 i 1749600
woluwinwlplibip
45251128 prhnh hbinwgdwl wafuwinwpubip/ Upphl hwiwjuph dhony wlgling «Undpndh dnp» Ul ot g T T 1 1886400
htnbnwnwph dwppdwl wzhiwnwbplbiph
Onwghnp -PUulwpwbwhl shtwpwpnipynts
: Ubduwiinuip * Plwlwpuliught shuwpupnisni
pwdhti 09 funulp 1 quu 1 dpwghn 51 {n:ﬁm pintgbiinuight éw}u'ubnh gnpdwnbwlwl nuwuwlwpqdul)
Uhguitighly SUdwU wnwpljwh
dwdlwghpp' Fudwl | wihdwl| Uhwynph Snulwpp
Lwuwlyp
pun SUU Utwlnuip dup  [dpwdnpp|  ghlp /npuwd/
nwuwlwngy
1 2 3 4 5 6 7
Ownwjnipjnitiibip 520000
<L Thpwlh dwpah Upphy hwiwjuph U.Vwdhp th. phy 2/3 hwugbnul guniynn
71321000/2 pwquwptwlwpwl puwlbh stuph wwpph Unpnguwl waluwinwlptibph hwiduwnp RLUL npwd 520000 i 520000
Uwhiwgdwlwhiwhwowhu thwuinwenpbph dywlnw
' Opwghpp -®nnnglibph pniuwinpnud
Ubuwnalp " SrnngUinh nuwswyapns
pweht 09 funwip 1 quu 1 bnmqﬁhESI (ouw pnighnwihl dwhaubinh gnpdwnbwlul nwuwlwngdwl)
Uhgwughy SUdwl wnwpluyh
budlwghpp Fudwl |Quipduts| Uhwynph nudwnp
puwn SUU Puwliwyp
Utywtnuwip Gup  |dpwdnpp|  ghup mpwd/
nwuwlwnpgd
wils
1 2 3 4 5 6 7
Ownuwjnipnibiibp = 7740800
65311100 Elalunpwitbpghwih pwsudwu Swnwijnyagniitibn RLUL npwd [ 5000000 1 5000000
65311100 Blblunwlwlinpwy pwstunud (Fubpquuwwniwy hwiwlwpgh Eubpqwiubiwinnnipiwi AOUC nnud | 2540000 i 2540000
dwnwinipyniitibph dwinngnu)
7132116072 hudbubpwlw twiuwgddwl dwnuwinueynil-Bwhwwwphwht (ntwynpnipjwl uwppbiph ac¢ o 130900 . 130900
wnbnwnpiwl wyhiwnwliptbph
713515403 Sbfuthlwlywl hulnnnipjwl Swnwjnup)ni-Swliwuywphwhl (nwwynpnipjwl uwppbph qc¢ i 69900 | 69900
unbnwnnlwl woluwinwliptibinh
Bpwahnp Uy Guilnpuhl Yuqdwlbpynienitubn
Udutinudp Uy dawlinipusht hwqdwl{hhwntmnmhbp
pwdht 09 funwip 1 nuwu 1 dpwghn 51 (putn pynigbitnwhl dwhuubinh i:;nﬁéwribwhw'u nuwuwljwngdut)
Uhguw
éwr;il:qi:i‘ Fudwl wnwnljwh Fudwl [2uwihdwl| Uphwynph Bhstindin Snudwpp
w
pun SUL Utiwlinup dup  |dhwynpp|  ghup Inpuad/
1 2 3 4 5 6 7
Uypwbptibp 2260825
03121210 Ownluiht Yndunghghwubip uu npwyd 318000 1 319000
15891000 Awliwqul dpbipplbip L snp dpbinp uu npwd 70000 1 70000
15894200 Twwnpwuwnh ubnun PLUL nnwd 87000 1 87000
1589720011 Ulinh dwupngubip qnpwlynshlttinh hwdwp PCUL nnwd 250000 1 250000
15981500 2nwgnighs pdwbihpltin PCUL | npwd 63000 1 63000
185211001 Uldbwlwl oguiwgnpddwl dwiwgnyg RPLUL hwin 40000 1 40000
30192210 fFnpb hupbwlwsni dwuywity Uu hwn 500 10 5000
30192220 Minhdbinwh huplwlwsni dwiywybl uu hwin 400 9 3600
30197636 Vwquwnwpwenins A4 uu hwtn 400 20 8000
313211901 Elbyupwlwy jwp Uu d 300 200 60000
31512360 Lbn inwwwnndibp/ |nwwpdwlibp uu hwtn 7000 4 28000
31651400 Uklnwhy dwuywbb uu hwwn 200 15 3000
35821400 “Hngubip uu huwin 400 199 79600




37521240 Pnishyubip Uu hwin 50 1000 50000
37821100 Ypdhu uu hwn 700 50 35000
39221130 Uwwlyjw pwdwyubn pCUL innith 10000 30 300000
39281100 Lnigwiidbpubip PLUL npwd 480000 1 480000
39281200 Funphpnwlgwlwl ubpubp uu hwtn 4000 14 56000
4442340071 Snguliwllibp b hwpwlhg wpnwnpwip' pwbbp uu 7 2625 25 65625
44111000 Chuwpwpwlwl Unyptip PLUL npwd 430000 1 430000
44141110 Nty denwnwlwl funnnduwl uu d 900 80 72000
44311280 Eplwpjw pwpawihny uu d 100 400 40000
44811500 nuwubipy Uu hwn 700 50 35000
Dwnwjnipjnititibp 6040000
79952110 Vawlnipwiht dhongwnnilutinh Prwlwlwgnud,wn pynul 6040000
Cwjwlwl pwbwyh opwl Udhpdwd hjnipwuhpnueuit Yugdwybpwnu PLUL npwd 160000 1 160000
Uwjpnipjwl, gbnbgliniejwy L uhpn on pCUL nnwd 50000 1 50000
nipwuhpnipynit <wnputiwlh b fuwnwnnieywl wntp Jwwwlgnipjwip uu npwid 75000 1 75000
Ublwhunpjwl ninl PCUL npwd 200000 1 200000
Nhunigsh op PLUL | npuwd 100000 1 100000
Lwnuwph op npwd | 2000000 1 2000000
Udwunp npwd | 2500000 1 2500000
60231200/1 Spwluwnpunwiht thnfuwnpdwl dwinwjnipyniiibip PLUL npwd 120000 1 120000
63111200 Pbndwl b pbnbwpwihiwl dwnuwinipnitiibn PLUL npwd 290000 1 290000
79521100/2 Muunbbbwhwudwy Swnwnupjniiibip/ gndwuwlwgpbin b wwwnngpbip PCUL npwd 18000 1 18000
79521100/3 Mwwnyngnpbiph wwinpwuwnnw L nujwgpniEnLl uu hwun 250 60 15000
90621100/2 Al dwppdmh émnw]mrajmhhhn PLUL nnwd 512000 1 512000
LibL{u.mnuIQ 'l.utufumr}umngmlqwh Upfam;ajmn
= pwdhh 09 |-unujp1 r}wu 1 éﬂu.lqhn 51 (putn pjn ghmu.uhh Eu.ul-uubnh qnp&wnanmh nuuwlwnpgdwl)
aigﬁtg;i Fudwl wnwplwh Yudwl | uchiwt| Uhwynph pututp| e
putn SUU Utwlnuip 8lup  |dpwynpp(  ghup /npwd/
1 2 3 4 5 6 7§
U'g_qpluhgllhp 698000
39711170 UwnUwpwy uu nnwy 295000 1 295000
39713433 Pnghlyny uu nnwd 33000 1 33000
42211140 Hwnwpwl-guqoguwifu uu npuwd 170000 1 170000
4271170 Lywgph Jbpklw uu nnwd 200000 1 200000




